NUMBER SYSTEM | PART-11

Consecutive Remainder

235 is divided by a number such that its con-
secutive remainders are 3 & 3. What is the
number?

235 I THRE T T 9 39 W TR TR A 3 2R
3 % | 7% e et |

(A) 5 (B)6

(€3 (D)4

525 is divided by a number such that its con-
secutive remainders are 4 and 9. What is the
number?
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(A) 12 (B) 16

(C)36 (D) 45

325678 is divided by a number then there are
3 consecutive remainders 196, 437, 553. Find
the dividend :

A 325678 wl fhal SEE A 9nT 34 W ST Savhel
196, 437 3T 553 & 4t 9o =1d &4 |

(A) 765 (B) 327

(C) 559 (D) 832

CGL 2017
When 64329 is divided by a certain number its
consecutive remainders are 175, 114 and 213.
Find the number.
64329 =1 T iy Tem 8 9w 9T TR W
175, 114 3R 213 91 €1 € | 7 1ol & -
(A) 184 (B) 224
(C)234 (D) 296

5. When 456753 is divided by a certain number

gives remainder 44, 35, 46 and 51. Find the
sum of digits of the divisor.

TET 456753 T RS T § 9T 89 9 AR %t
FHA: 44, 35, 46 AL 51 o9 € A1 ok & S o AN

| A |
(A)7 (B)6
(€3 (D) 4

When a number 7550 is divided by a two digit
no. consecutive remainders are 3, 11, 14 re-
spectively. Find the two digit no.

Ifg 7550 ! G 31k & o § oar fauifag =0 X
WS N 3, 11 8T 14 & @ °% T &F % 9em 99

=il |
(A) 24 (B) 34
(C) 44 (D) 32
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Solution

(D) 235 6. (A)
Jzo \ 7550
D5 35
32
@ 110
HCF (20, 32) = 4 €D,
12

2. (A)
_) ig‘r’ L HCF (72, 24,96) = 24

3. (&) J325678]

967

437

553
HCF (3060, 1530, 3825) = 765

—t

oo

HCF (412, 309) =103
Required sum=3+1=4
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